CHNT Mounting dimensions of fixed type

. . Phase barrier
N8 (S) Moulded Case Circuit Breaker Manual -
Please Note:Electrical equipment should be installed, operated, serviced, and maintained only 2:40 [ 2. 1sgd
by qualified personnel.No responsibility is assumed by Chint for any consequences arising T g U b
out of the use of this material. - 1
A qualified person is one who has skills and knowledge related to the construction and i I B
operation of electrical equipment and its installation,and has received safety trainning to AERNE 1 Qe P P el S
recognize and avoid the hazards involved. 17
L e A: ° 1
M I3 @ ¢ 2| 4
4—.»:—"- \2\¢dl i j W0 0 - I
NM8(S)-125 . 250 . 400 . 630 (mm)
AL A R T A A R L LR LR LR L LR A
I d currnt, {Tstantansous)sorteirent Ne-15 s o T o sl s oo oo oo i o o o o i o s
t and short tine-delay short-circuit ] P PO P [ P P Y PO VO I O
current ean be adjusted. W8(S)-250 5T (373 180 (88 (106 )20 {0 (30 38 0 |06 | 30 ({105 [ 3TA{I0 ) 35 {105 (10 ) W0 { % (23] 5531
NMBS-400(630) , NM8S-800 (1250 "TNE (o) ¢ e w0 | ael o o e [
D Al 3 rtection B0 B4 (o (o {1 i {25 | f| )9 o fue ] (5] 1565
(instantaneous) short-circuit protection and short
tin}efdelay short-circuit protection can be I 2 i
(Cables terminals adjusted. - H/;; '
— Phase barrier I
',(' % A — u
Torque Torque .
00 (N. m) %Q 00| o Tools: I ! | | |
1P 2(13x65) 0.8 2(46x16) L - 1P+ }
. 2p 2 (I5x65) 4(M6x16) i L ; f E E E
P 4(15x65) 8 (M6x16) S i Rm B N A = 7i> . jI‘j N
1P 2 (M3x75) 2 (M8x20) @g’ ] i !f i | | i | (] i 5
. 2p 2(45x75) 1(08x20) ORRS 1! I
NM8 (S) ~250 ) o8 Lo g L em ol
3p 2 (M5x75) 3 6 (M8x20) 11 T 3 N i .
ap 4(15x75) 8 (M8x20) \ o
V8 (S) ~400 3p 4(W5x90) 6 (M10x30) “
N8 () -630 p 6 (M5x90) s 8 (M10x30) 10 b
N8 (5) 800 3p 4(M5x140) 12 (M10x55) K3 L R X
NM8 () -1250 3 50 =
NMSS-1600 4P 6 (M5x140) 16 (M10x55) - CHNT 2.




NM8(S)-800 . 1250 . 1600 (mm) Modes of down-lead
\ L(LD )0 B[S (R (SR G (G 63 | GE (00 | T { (] o Upper Lover
N\lB[N’SUO L0 {310 369 |10 5 {240 Y05 05 % |0 {0 {20 |20 o0 (240 )0 | 8 {00 | 20 80| % |65
N (oo s o o o s | oo Lo o o L s | o o me ||
g ot 6%
%a\\‘}\“l‘?‘\sl 1 s I=
NQED
e @
©
LOAD ' ' '
i Insulation plate insulation | ko or colored
NM8 Ue (V) A B connection terming metal plate (mm)
S o Y e 02 cl C2
N S I\\%%:‘*,\?;\i < 40—5 30 30 3 3 -
“'jm, == W/ < 600 10 30 ——T % | ///
e | > so0—T 0 | 30 30 | 35 1 55T
ko <y0| s t+—r | 30 35 35
~ @ Wm0 | < 600 ) [ 30 30 35 3
= 600 20 30 30 35 35
< 440 5 30 30 3% 35
NI (S)-400  NUB(S)-630 < 600 10 30 30 35 35
= 600 20 30 30 35 35
IB(S)-800 NS (S)-1250 )
\ES-1600 10 130 100 70 70
Warning: Forbidden wet hand
to operate the Yircuit breaker
CHNT -3- CHNT -4-




Warning:when voltage = 500V, extended terminal cover
should be mounted.

Modes of connection
NI8(S)-125 « 250 . 400 . 630

N a

NI8S-1600

N8 (S)-1250

N8 ($)-800
a

Phase barrier

a(mm)

N8-125 4o {o<v<) | <8 | 65 | 15 6
N (5)-250 5 lw<p<m|<ss| e85 | » | 1
NI3(S)-400 8 |w<v<n|<15 | o105 | 32 | 40
NS () -630 D '

NS (5)-800 -
15 <h < <15 | 8105 50 50

N8 (5)-1250 0<b <19

NM8S-1600 20 [gogpg|sH ©10.5 50 50

Please check the torque of the connect screw regular

CHNT

-6-

ly




Front connection plate (mm) Cage clamp terminal
NM8-125 N8 (S)-250 NM8(S)-400 . 630
gy .
,{\ | | 30 3
P -+ %_ l
> X . & {IB— 1
ot [ &
NMB(S)-800 N8 (S)-1250 .
Type T 5 . <ﬁ»| 12,
| ] |
= PN
o0 N|\t ¢!¢ | ] 2’ ’d}w
i et | ] i FanY ‘
ooo] | [ooo 1 o
[—2 ] M
Type L 45 2 =
OO0 ] q}q}i‘_ ||
. R N| Type Pole | Type selection
| A —1 _ P [11212
OO0 0 «? -$- -$—— N N8 (S)-1250 m 177
=
74. 5
NN8S-1600
45
Type T 5 » LR Normal cross-sectional area of the copper/aluminum conductor
T EHPY Rated Current 150 7
0N l\ ()!() o [V é:-[ M) ;g 2532 ig 63 |80 [00]125 160 24050 3151400 50 | 60 I
200 —q} ¢ (‘)— | q} & 9 crogs |Conductors (2.5 4 f 6 101625 |35 50{70]95 {120 {165 240 | 2050 |25 {220 | — | — [ —
= | - sectiongh
= 7 (m) * {Cooper bars| — [— [ — |—|—| = |—[—|—|—|— | — | — [ 25 |t 08 { et | s {2
CHNT -7- CHNT -8-




N8 (S) Accessories & Installation

AX | Auxiliary Contact
AL | Alarm Contact

SHT | Shunt Release

UVR | Under-Voltage Release

the SHT and UVR

CHNT

Press the test-button when installing

Make sure the surface of release
is aligned with the cover

Connection of bare cable

NIB-125 | M8 (S)-250

a(m) |bGm) |c(Nem)
NM8-125 97 | 57 5
NM8 (S)-250 110 | 66 8
NM8 (S) 400
N8 (S)-630 125 | 65 20
CHNT -10-





